All Latin Tenses Conjugation Practice
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Horizontal
1) PERFECT PASSIVE SUBJUNCTIVE: EGO
CAPERE
4) FUTURE ACTIVE INDICATIVE: N?S AUD?RE
9) FUTURE ACTIVE INDICATIVE: N?S FACERE
11) PRESENT ACTIVE SUBJUNCTIVE: EGO AM?RE
12) PRESENT ACTIVE SUBJUNCTIVE: EGO
FACERE
14) PERFECT PASSIVE SUBJUNCTIVE: EGO
FACERE
16) PERFECT PASSIVE SUBJUNCTIVE: EGO
LEGERE

Vertical
1) FUTURE PERFECT PASSIVE INDICATIVE: N?S
CAPERE
2) PERFECT PASSIVE INDICATIVE: ID PORT?RE
3) PLUPERFECT ACTIVE SUBJUNCTIVE: EGO
AUD?RE
5) FUTURE PERFECT PASSIVE INDICATIVE: T?
FACERE
6) IMPERFECT ACTIVE INDICATIVE: N?S FACERE
7) PERFECT PASSIVE SUBJUNCTIVE: ID FACERE
8) PERFECT ACTIVE INDICATIVE: EGO AM?RE
10) PRESENT ACTIVE INDICATIVE: N?S FACERE
13) PRESENT ACTIVE INDICATIVE: ID AM?RE
15) PRESENT ACTIVE INDICATIVE: EGO AM?RE
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